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E–102 

M. Com. (First Semester) 

EXAMINATION, Dec.-Jan., 2020-21 

Paper Second 

ADVANCED ACCOUNTING 

Time : Three Hours ]  [ Maximum Marks : 80 

    [ Minimum Pass Marks : 16 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- Lo&vftZr ;k LoSV va’kksa dk fuxZeu fd;k tk ldrk gS % 

¼v½ dEiuh ds lerk va’k/kkfj;ksa dks 

¼c½ dEiuh ds iwokZf/kdkj va’k/kkfj;ksa dks 

¼l½ dEiuh ds _.ki=/kkfj;ksa dks 

¼n½ dEiuh ds izorZdksa ,oa deZpkfj;ksa dks 
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The sweat shares can be issued to : 

(a) Company’s equity shareholders 

(b) Company’s preference shareholders 

(c) Company’s debentureholders 

(d) Company’s promoters and employees 

2- va’kksa ds gj.k ij va’k iw¡th [kkrk MsfcV ¼fodyu½ gksxk % 

¼v½ va’kksa ds vafdr ewY; ls 

¼c½ ek¡xh xbZ jkf’k ls 

¼l½ pqdkbZ x;h jkf’k ls 

¼n½ buesa ls dksbZ ugha 

When shares are forfeited, the Share Capital account is 

debited by : 

(a) Nominal value of the shares 

(b) Called-up amount 

(c) Paid-up amount 

(d) None of these 

3- iwokZf/kdkj va’kksa ds ‘kks/ku ds fy, dkSu&lh fof/k oS/kkfud :i ls ekU; 

gksxh \ 

¼v½ u;s lerk va’kksa dk fuxZeu djuk 

¼c½ dEiuh dh lEifŸk;ksa dk foØ; 

¼l½ _.ki=ksa dk fuxZeu 

¼n½ cSad ls _.k ysuk 

Which method is legally allowed for redemption of reference 

shares ? 

(a) Issue of fresh equity shares 

(b) Sale of assets of the company 

(c) Issue of debentures 

(d) Loan from the Bank 
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4- Lo;a ds _.ki=ksa dks jn~n djus ij gq, ykHk dk vUrj.k gksxk % 

¼v½ ykHk gkfu fooj.k&i= esa 

¼c½ lkekU; lap; [kkrk esa 

¼l½ iw¡th lap; [kkrk esa 

¼n½ _.ki= [kkrk esa 

Profit of cancellation of own debentures is transferred to : 

(a) Statement of Profit and Loss 

(b) General Reserve Account 

(c) Capital Reserve Account 

(d) Debentures Account 

5- vof’k”V ;kpuk ¼cdk;k ek¡x½ fpV~Bs ds fuEu ‘kh”kZd ds v/khu n’kkZ;h 

tkrh gS % 

¼v½ va’k iw¡th 

¼c½ lap; ,oa vfrjsd 

¼l½ pkyw nkf;Ro 

¼n½ vlqjf{kr _.k 

Call-in-arrears in shown in the Balance-sheet under the  

head : 

(a) Share capital  

(b) Reserve and Surplus 

(c) Current liabilities  

(d) Unsecured loans 
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6- pkyw nkf;Roksa dk Hkqxrku dj fn;k tkrk gS % 

¼v½ rhu ekg ds Hkhrj 

¼c½ N% ekg ds Hkhrj 

¼l½ ukS ekg ds Hkhrj 

¼n½ ckjg ekg ds Hkhrj 

Current liabilities are paid within : 

(a) Three months 

(b) Six months 

(c) Nine months 

(d) Twelve months 

7- ykHk&gkfu fooj.k&i= dgykrk gS % 

¼v½ vk; dk fooj.k&i= 

¼c½ O;kikj dk fooj.k&i= 

¼l½ lEifŸk;ksa dk fooj.k&i= 

¼n½ gkfu dk fooj.k&i= 

Statements of Profit and Loss is called : 

(a) Statement of Income 

(b) Statement of Business 

(c) Statement of Assets 

(d) Statement of Loss 

8- foŸkh; fooj.k&i= lkjka’k izLrqr djrs gSa % 

¼v½ [kkrksa dk 

¼c½ lEifŸk;ksa dk  

¼l½ nkf;Roksa dk 

¼n½ mi;qZDr lHkh dk 
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Financial statement provides a summary of ........... 

(a) Accounts 

(b) Assets 

(c) Liabilities 

(d) All the above 

9- Ø; fof/k ds vUrxZr Ø; izfrQy ,oa gLrkUrjh dEiuh dh va’k iw¡th 

ds vUrj dk lek;kstu gksxk % 

¼v½ lkekU; lap; [kkrk ls 

¼c½ ,dhdj.k lek;kstu [kkrk ls 

¼l½ [;kfr ;k iw¡th lap; [kkrk ls 

¼n½ mi;qZDr esa ls dksbZ ugha 

Under purchase method the difference between the purchase 

consideration and share capital of the transferee company 

should be adjusted to : 

(a) General Reserve Account 

(b) Amalgamation Adjustment Account 

(c) Goodwill or Capital Reserve Account 

(d) None of the above 

10- tc ,dhdj.k foy; dh izÑfr dk gks] rks ys[kkadu fof/k iz;ksx dh 

tkrh gS % 

¼v½ lerk fof/k 

¼c½ Ø; fof/k 

¼l½ fgrksa dk lewghdj.k fof/k 

¼n½ lesfdr fof/k 



 [ 6 ] E–102 

When amalgamation is in the nature of merger, the 

accounting method to be followed is : 

(a) Equity method 

(b) Purchase method 

(c) Pooling of Interests method 

(d) Consolidated method 

11- fuEufyf[kr esa ls dkSu&lk dFku lR; gS \ 

¼v½ gLrkUrjh dEiuh }kjk fd;k x;k izR;sd Hkqxrku Ø; izfrQy 

dk Hkkx gksrk gS  

¼c½ ys[kkadu ekud&14 ds vuqlkj Øsrk dEiuh }kjk foØsrk dEiuh 

dks Hkqxrku fd;s x;s lekiu O;; dh jkf’k dks Ø; izfrQy esa 

‘kkfey fd;k tkrk gSA 

¼l½ ,dhdj.k dh n’kk esa ,df=r ykHk@gkfu ,dhdj.k ¼olwyh½ 

[kkrk esa gLrkUrfjr dh tkrh gSA 

¼n½ [kf.Mr va’kksa dk ewY;kadu cktkj ewY; ij fd;k tkrk gSA 

Which of the following statements is true ? 

(a) Every payment made of transferee company is a part of 

purchase consideration 

(b) Accounting to accounting standard-14, liquidation 

expenses of vendor company paid by purchasing 

company are included in purchase consideration 

(c) Accumulated profits/loss transferred to realisataion 

account in case of amalgamation 

(d) Fractions shares are valued at market price. 
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12- vkUrfjd iqufuZekZ.k ;kstuk ds vUrxZr lafpr gkfu;ksa dks vifyf[kr 

fd;k tkrk gS % 

¼v½ va’k iw¡th [kkrk ls 

¼c½ iw¡th U;wuhdj.k [kkrk ls 

¼l½ lkekU; lap; [kkrk ls 

¼n½ kl vk;kstu [kkrk ls 

The accumulated losses under scheme of internal 

reconstruction are written off against : 

(a) Share Capital Account 

(b) Capital Reduction Account 

(c) General Reserve Account 

(d) Provision for Depreciation Account 

13- lw=/kkjh dEiuh us lgk;d dEiuh ds 60% va’k 2]50]000 esa Ø; fd;s 

tcfd lgk;d dEiuh dh fuxZfer iw¡th ` 2]00]000 rFkk Ø; frfFk 

ij lap; ,oa vfrjsd ` 1]00]000 gSA [;kfr dh jkf’k gksxh % 

¼v½ ` 30]000 

¼c½ ` 50]000 

¼l½ ` 70]000 

¼n½ ` 1]50]000 

Holding company purchased 60% shares in subsidiary 

company for ` 2,50,000 while issued capital of subsidiary 

company in ` 2,00,000 and Reserve and Surplus on the date 

of acquisition are ` 1,00,000. Amount of goodwill will be : 

(a) ` 30,000 

(b) ` 50,000 

(c) ` 70,000 

(d) ` 1,50,000 
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14- vUr%dEiuh ykHkka’k fefJr fpV~Bs esa n’kkZ;k tk;sxk % 

¼v½ lap; ,oa vfrjsd esa 

¼c½ pkyw nkf;Ro esa 

¼l½ pkyw lEifŸk esa 

¼n½ buesa ls dksbZ ugha 

Inter-company dividend will be shown in the consolidated 

balance sheet in : 

(a) Reserves and surplus 

(b) Current liabilities 

(c) Current asset 

(d) None of the above 

15- fuEufyf[kr esa dkSu&lk dFku lR; gS \ 

¼v½ ,d lw=/kkjh dEiuh fdlh nwljh dEiuh dh lgk;d dEiuh 

ugha cu ldrhA 

¼c½ fdlh vU; dEiuh ds 50% lerk va’k Ø; djus ij ,d 

dEiuh lw=/kkjh dEiuh dgykrh gSA 

¼l½ lgk;d dEiuh ds iwokZf/kdkj va’kksa esa fd;s x;s fofu;ksx dks 

fu;U=.k dh ykxr dh x.kuk esa ‘kkfey fd;k tkrk gSA 

¼n½ lgk;d dEiuh }kjk lw=/kkjh dEiuh vFkok lw=/kkjh dEiuh 

}kjk lgk;d dEiuh dks csps x, LdU/k ij fcuk olwy gq, ykHk 

ls vYier fgr okys va’k/kkfj;ksa dks gkfu gksrh gSA   
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Which of the following statements is true ? 

(a) A holding company cannot become a subsidiary of 

other company 

(b) A company is called holding company after purchasing 

50% equity shares in other company. 

(c) Investments in the preference shares of the subsidiary 

company is also taken into account for calculating cost 

of control. 

(d) Unrealised profit on stock supplied by subsidiary 

company to holding company or vice-versa is a loss to 

the minority shareholder’s interest. 

16- lgk;d dEiuh ds vf/kxzg.k ls iwoZ ds ykHkksa esa ls izkIr ykHkka’k dks 

ØsfMV fd;k tkrk gS % 

¼v½ lgk;d dEiuh esa fofu;ksx [kkrk 

¼c½ iw¡th lap; [kkrk 

¼l½ ykHk&gkfu@vfrjsd [kkrk 

¼n½ mi;qZDr esa ls dksbZ ugha 

Divided received out of pre-acquisition profit of subsidiary 

company is credited to : 

(a) Investment in Subsidiary Company Account 

(b) Capital Reserve Account 

(c) Profit and Loss/Surplus Account 

(d) None of the above 

17- va’knk;h ;k /kunkrk gS % 

¼v½ ysunkj 

¼c½ va’k/kkjh 

¼l½ _.ki=/kkjh 

¼n½ ifjofrZr _.ki=/kkjh 
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A contributory is : 

(a) A creditor 

(b) A shareholder 

(c) A debentureholder 

(d) A convertible debentureholder 

18- fuEufyf[kr esa ls dkSu iwokZf/kdkj ysunkj ugha gS \ 

¼v½ deZpkjh Hkfo”; fuf/k] iaas’ku Q.M] xzsP;qVh Q.M vFkok 

deZpkfj;ksa ds dY;k.k ds fy, cuk, x, vU; Q.M esa ns; dqy 

jkf’k 

¼c½ deZpkjh {kfr iwfrZ vf/kfu;e ds vUrxZr {kfriwfrZ 

¼l½ lekiu ds fiNys 12 ekg ds fy, deZpkjh jkT; chek vf/kfu;e 

ds rgr ns; jkf’k 

¼n½ deZpkjh dks ,dhdj.k ;k iqufuZekZ.k ds dkj.k ns; jkf’k 

Which of the following is not a preferential creditor ? 

(a) All sum due to employee from a provident fund, 

pension fund, gratuity fund or any other fund 

maintained for welfare of employee. 

(b) Compensation under Workmen’s Compensation Act 

(c) Amount due under Employee State Insurance act for 

12 months previous to the winding up. 

(d) Amount due to employee under amalgamation or 

reconstruction 
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19- dFku (I) % dEiuh lk/kkj.k izLrko ikfjr djus ds i’pkr~ lekiu 

ds fy, vkosnu izLrqr dj ldrh gSA 

dFku (II) %  izR;sd ysunkj dEiuh ds lekiu ds fy, ;kfpdk 

izLrqr ugha dj ldrkA 

dwV % 

¼v½ dFku (I) ,oa dFku (II) nksuksa lgh ugha gSa  

¼c½ dFku (I) lgh gS] fdUrq dFku (II) lgh ugha gS 

¼l½ dFku (II) lgh gS] fdUrq dFku (I) lgh ugha gS 

¼n½ dFku (I) ,oa dFku (II) nksuksa lgh gSa 

Statement (I)   : The company may present the petition for 

winding up after passing an ordinary 

resolution. 

Statement (II)  : Every creditor cannot file a petition for 

winding up of the company. 

Code : 

(a) Both, Statement (I) and Statement (II) are not correct. 

(b) Statement (I) is correct, but Statement (II) is not 

correct. 

(c) Statement (II) is correct, but Statement (I) is not 

correct. 

(d) Both, Statement (I) and Statement (II) are correct. 

20- dEiuh dks ljdkjh fuLrkjd ds le{k voLFkk fooj.k izLrqr djuk 

vko’;d gS % 

¼v½ 7 fnuksa ds Hkhrj 

¼c½ 14 fnuksa ds Hkhrj 

¼l½ 21 fnuksa ds Hkhrj 

¼n½ 30 fnuksa ds Hkhrj 
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A company is required to submit a statement of affairs to the 

official liquidator within : 

(a) 7 days 

(b) 14 days 

(c) 21 days 

(d) 30 days 

 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj nks ;k rhu okD;ksa esa nhft,A 

 Attempt any eight questions in two or three sentences. 

1- ,d lkoZtfud dEiuh }kjk vf/kdkj va’kksa dk fuxZeu dc fd;k tkrk 

gS \ 

When are rights shares issued by a public company ? 

2- ‘kks/kuh; iwokZf/kdkj va’kksa dk ‘kks/ku ` 5]00]000 ds lkekU; lap; ls 

fd;k x;kA iw¡th ‘kks/ku lap; [kkrk ds fuekZ.k dh tuZy ¼iath½ 

izfof”V nhft,A 

The redeemable preference shares were redeemed out of 

general reserve of ` 5,00,000. Give journal entry for creating 

capital redemption reserve account. 

3- deZpkjh fgr O;; esa ‘kkfey fd;s tkus okyh rhu enksa ds uke 

fyf[k,A 

Name the three items to be included in the employee benefit 

expenses. 

4- dEiuh ds foŸkh; fooj.k&i= ls vkidk D;k vk’k; gS \ 

What do you mean by the company’s financial statement ? 
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5- ,dhdj.k ds eq[; mís’; D;k gSa \ 

What are the main objects of amalgamation ? 

6- iw¡th U;wuhdj.k [kkrk dc rS;kj fd;k tkrk gS \ 

When is a capital reduction account prepared ?  

7- vUr%dEiuh O;ogkjksa ds nks mnkgj.k nhft,A 

State two examples of inter-company transactions. 

8- 1 vDVwcj] 2020 dks ^,p-* fyfeVsM us ^,l-* fyfeVsM ds va’k Ø; 

fd;sA 1 viSzy] 2020 dks ^,l-* fyfeVsM ds ykHk&gkfu fooj.k&i= dk 

‘ks”k ` 20]000 FkkA o”kZ 2020&21 dk ykHk ` 20]000 FkkA vf/kxzg.k ds 

iwoZ rFkk i’pkr~ dh vof/k ds ykHk dh x.kuk dhft,A 

Shares of ‘S’ limited were acquired by ‘H’ limited on 1st 

October, 2020. Balance of profit and loss statement of ‘S’ 

limited on 1st April, 2020 was ` 20,000. Profit for the year 

2020-21 was ` 20,000. Calculate profit pre and post 

acquisition period. 

9- dEiuh ds fuLrkjd dh fu;qfDr dkSu dj ldrk gS \ 

Who can appoint liquidator for a company ? 

10- ‘kks/ku {kerk dh ?kks”k.kk dc djuh iM+rh gS \ 

When is the declaration of solvency required to be made ? 

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % fuEufyf[kr nl iz’uksa esa ls dksbZ vkB iz’u gy dhft,A xf.krh; 

izÑfr ds iz’uksa dks NksM+dj vU; iz’uksa ds mŸkj yxHkx 75 ‘kCnksa 

eas nhft,A  
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 Attempt any eight questions from the following ten 

questions. Each question except numerical nature is to be 

answered in about 75 words. 

1- ` 100 okys 200 lerk va’k ` 30 vfUre ;kpuk dk Hkqxrku u djus 

ds dkj.k tCr dj fy;s x;sA vkxs pydj bUgsa ` 10 izfr va’k 

izhfe;e ij iqufuZxZfer dj fn;kA 

mi;ZqDr O;ogkjksa dh iath ¼tuZy½ izfof”V;k¡ dhft,A 

200 equity shares of ` 100 each are forfeited for non-

payment of the final call of ` 30 per share. These shares are 

subsequently, re-issued at a premium of ` 10 per share. 

Journalise the above transactions. 

2- ,d fyfeVsM dEiuh ds izR;sd ` 100 okys 2]000] 8% +_.ki= 5% 

dVkSrh ¼cV~Vs½ ij fuxZfer fd;s tks 4 leku okf”kZd fdLrksa esa ‘kks/; 

gSaA 

dEiuh dh iqLrdksa esa _.ki= dVkSrh [kkrk cukb,A 

A limited company issued 2,000, 8% debentures of ` 100 

each at a discount of 5% repayable in 4 instalments. 

Prepare Debentures Discount account in the books of 

company. 

3- laHkkO; nkf;Roksa dks mnkgj.k lfgr le>kb,A 

Explain the contingent liability with examples. 

4- foŸkh; fooj.k ds egRo dk o.kZu dhft,A 

Discuss the importance of financial statement. 

5- lkxj fyfeVsM dh fuEufyf[kr lEifŸk;ksa ,oa nkf;Roksa ds lkFk lkxj 

fyfeVsM dk ,dhdj.k lkxj xaMspk fyfeVsM }kjk fd;k x;k % LFkk;h 

lEifŸk;k¡ % ` 62]000] va’k iw¡th ` 90]000( pkyw lEifŸk;k¡ ` 33]000( 

lkekU; lap; 2]000] ykHk&gkfu fooj.k&i= _.kkRed ‘ks”k % ` 5]000 
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izkjfEHkd fpV~Bk rS;kj dj lkxj fyfeVM ds Ø; ewY; dh x.kuk 

dhft,A 

Sagar Limited was amalgamated by Sagar Gandecha Limited 

with the following assets and liabilities of Sagar Limited : 

Fixed assets : ` 62,000; Share capital ` 90,000; current assets 

` 33,000; General Reserve ` 2,000, Statement of profit and 

loss negative balance ` 5,000. Calculate the purchase 

consideration of Sagar Limited by preparing the opening 

balance sheet. 

6- ys[kkadu ekud&14 ds vUrxZr foy; ds LoHkko okys ,dhdj.k dh 

‘krs± D;k gSa \ 

What are the conditions of amalgamation of the nature of 

merger as per accounting standard-14 ? 

7- guh ikVdj fyfeVsM dh vf/kÑr va’k iw¡th ` 10 okys 20]000 va’kksa esa 

foHkDr ` 2]00]000 FkhA ;s lHkh va’k fuxZfer fd;s x;s rFkk ` 7 izfr 

va’k rd pqdrk FksA 2021 esa dEiuh us fu.kZ; fy;k fd ` 2 izfr va’k 

dk Hkqxrku dj fn;k tk, vkSj ` 10 ds va’k dks ?kVkdj ` 5 izfr va’k 

iw.kZ pqdrk dj fn;k tk, rFkk vnŸk jkf’k dks jn~n dj fn;k tk,A 

ykHk&gkfu fooj.k i= esa ` 60]000 dk vfrjsd FkkA 

dEiuh dh iqLrdksa esa vko’;d iath ¼tuZy½ izfofo”V;k¡ dhft,A 

Honey Patkar Limited had ` 2,00,000 authorised capital 

divided into 20,000 shares of ` 10 each. All these shares 

were issued and were paid to the extent of ` 7 per share. The 

company decided in 2021 to pay off ` 2 per share and to 

reduce the ` 10 share to ` 5 per share fully paid-up by 

cancelling unpaid amount. There was ` 60,000 surplus of 

statement of profit and loss. 

Pass necessary journal entries in the book of company. 
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8- ^,* fyfeVsM us ^ch* fyfeVsM dh 3@5 va’k iw¡th Ø; dhA ^,* 

fyfeVsM ds vfUre LdU/k esa ` 10]000 dk ,slk eky ‘kkfey gS tks 

blus ^ch* fyfeVsM ls Ø; fd;kA ^ch* fyfeVsM ^,* fyfeVsM dks eky 

fcØh ewY; ij 25% ykHk ls csprh gSA vfUre LdU/k esa ‘kkfey u gq, 

ykHk dh x.kuk dhft, rFkk fefJr fpV~Bs esa bls izdV djus dh fof/k 

fyf[k,A 

‘A’ Limited purchased 3/5 share capital of ‘B’ Limited. 

Closing stock of ‘A’ Limited includes goods of ` 10,000 

purchased from ‘B’ Limited. ‘B’ Limited sells goods to ‘A’ 

Limited by charging 25% profit on sales. Find out unrealised 

profit included in closing stock and mention its treatment in 

consolidated balance sheet. 

9- os dkSu&lh ifjfLFkfr;k¡ gSa ftuesa izkf/kdj.k ,d dEiuh ds vfuok;Z 

lekiu dk vkns’k ns ldrk gS \ 

What are the circumstances in which a company may be 

compulsorily winding-up on the orders of tribunal ? 

10- ,d lekid lEifŸk;ksa dh fcØh ls izkIr gqbZ jkf’k dks fdl Øe esa 

forfjr djrk gS \ 

In what order does a liquidator distribute the proceeds from 

the sale of assets ? 

 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % bl [k.M ds lHkh iz’u vfuok;Z gSaA xf.krh; izÑfr ds iz’uksa dks 

NksM+dj vU; iz’uksa ds mŸkj yxHkx 150 ‘kCnksa esa nhft,A 
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 All questions are compulsory of this Section. Each 

question except numerical nature is to be answered in 

about 150 words. 

1- xfjek fyfeVsM us ` 10 okys 100000 lerk va’kksa ds fy, vkosnu i= 

vkefU=r djrs gq, izfooj.k tkjh fd;kA va’k dk ewY; bl izdkj ns; 

gS % 

` 5 vkosnu i= ds lkFk] ` 3 vkcaVu ij rFkk ‘ks”k izFke ,oa vfUre 

;kpuk ijA 

dqy 1]24]000 va’kksa ds fy, vkosnu&i= izkIr gq,A lapkydksa us 

fuEukuqlkj va’k vkcafVr fd;s % 

85]000 va’kksa ds vkosndksa dks lEiw.kZ vkcUVu 

30]000 va’kksa ds vkosndksa dks 15]000 va’k 

9]000 va’kksa ds vkosndksa dks dqN ugha 

;g ekurs gq, fd vkc.Vu ,oa ;kpuk ij ns; lEiw.kZ jkf’k;k¡ izkIr gks 

xbZ gSa] vko’;d tuZy ¼iath½ izfof”V;k¡ dhft,A 

Garima limited issued a prospectus inviting applications for 

10000 equity shares of ` 10 each payable as to ` 5 with 

application; ` 3 on allotment and the balance on first and 

final call.  

The total applications received for 1,24,000 shares. 

The Directors allotted as follows : 

To applicants of 85,000 shares Full allotment 

To applicants of 30,000 shares 15,000 shares 

To applicants of 9,000 shares Nit 

Pass the necessary journal entries assuming that all the sums 

due on allotment and call have been received. 
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vFkok 

(Or) 

_.ki=ksa ds ‘kks/ku dh fofHkUu fof/k;ksa dks la{ksi esa le>kb,A 

Explain in brief the various methods of Redemption of 

Debentures. 

2- ,d vuqHkoghu ys[kkiky us fu/kh fyfeVsM dk fpV~Bk 31 ekpZ] 2021 

dks fuEukuqlkj rS;kj fd;k gSA vki bl fpV~Bs dks Hkkjrh; dEiuh 

vf/kfu;e] 2013 ds vuqlkj iqu% rS;kj dhft, rFkk vko’;d 

fVIif.k;k¡ nsdj le>kb,A 

  ns;rk 
jkf’k 

¼`½ 

fofo/k ysunkj 95]600 

ns; foi= 29]310 

vnŸk osru 1]210 

vnŸk etnwjh 1]840 

_.ki=ksa ij C;kt ¼vnŸk½ 12]500 

cSad vf/kfod”kZ 37]870 

10% _.k i= 2]50]000 

ykHkgkfu&fooj.k i= dk ‘ks”k ¼ykHk½ 82]325 

lkekU; lap; 1]00]000 

va’kiw¡th 7]00]000 

djksa ds fy, izko/kku 50]000 

 13]60]655 
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  lEifŸk;k¡ 
jkf’k 

¼`½ 

iwoZnŸk O;; 1]110 

izkI; foi= 17]850 

Bsdsnkjksa dks _.k 5]000 

jksdM+ 3]240 

                                `    

nsunkj                      1]07]400  

?kVk;k % v’kks/; _.k            2]500   

                           1]04]900  

?kVk;k % 5% izko/kku            5]245 99]655 

O;kikfjd LdU/k 3]57]620 

fofu;ksx 98]750 

QuhZpj ¼ kl ?kVkdj½ 36]670 

Iyk.V ,oa e’khujh ¼ kl ?kVkdj½ 2]84]760 

Hkwfe 4]56]000 

 13]60]655 
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An unexperienced accountant has prepared the balance sheet 

of Nidhi Limited as at 31st March, 2021 as follows, Redraft 

the balance sheet prescribed by Indian Companies Act, 2013 

and giving comments as you deem necessary : 

   Liabilities 
Amount 

(`) 

Sundry creditors 95,600 

Bills payable 29,310 

Outstanding salaries 1,210 

Outstanding wages 1,840 

Interest on debentures (outstanding) 12,500 

Bank overdraft 37,870 

10% Debentures 2,50,000 

Balance of statement of profit and loss (profit) 82,325 

General Reserve 1,00,000 

Share capital 7,00,000 

Provision for Taxation 50,000 

 13,60,655 

 

   Assets 
Amount 

(`) 

Prepaid Expenses 1]110 

Bills Receivable 17]850 

Loan to contractors 5]000 

Cash 3]240 
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                                                      `  

Debtors                                  1,07,400  

Less : Bad debts                          2,500   

                                               1,04,900  

Less : 5% Provision                     5,245 99]655 

Stock-in-trade 3]57]620 

Investment 98]750 

Furniture (Less : Depreciation) 36]670 

Plant and Machinery (Less : Depreciation) 2,84]760 

Land 4]56]000 

 13]60]655 

vFkok 

(Or) 

fefJr fpV~Bk D;k gS \ ;g D;ksa vkSj dSls cuk;k tkrk gS \ 

What is a consolidated balance sheet ? Why and how is it 

prepared ? 

3- oSHko fyfeVsM vkSj xkSjo fyfeVsM ,dhdj.k djus dk rFkk ` 100 izfr 

va’k esa foHkDr ` 2]50]000 dh vf/kÑr iw¡th ls ^oSHko&xkSjo fyfeVsM* 

dgh tkus okyh ,d u;h dEiuh dh LFkkiuk djus dk fu’p; djrs 

gSaA ubZ dEiuh nksuksa dEifu;ksa dh lEifŸk;ksa ,oa nkf;Roksa dks ys ysrh 

gSA izfrQy bl izdkj gS % 
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oSHko fyfeVsM dks 1]500 iw.kZ pqdrk va’k rFkk xkSjo fyfeVsM dks 500 

iw.kZ pqdrk va’k rFkk ` 5]000  udn esaA LFkkiuk O;; ds ` 3]000 

rFkk ifjlekiu O;; ds ` 1]000 ubZ dEiuh }kjk pqdk, tkrs gSaA 

,dhdj.k dh frfFk dks ‘ks”k fuEukuqlkj Fks % 

fooj.k 

oSHko fyfeVsM xkSjo fyfeVsM 

MsfcV ‘ks”k ØsfMV ‘ks”k MsfcV ‘ks”k ØsfMV ‘ks”k 

(`) (`) (`) (`) 

fofo/k lEifŸk;k¡ 1]28]645 & 65]370 & 

jksdM+ 27]605 & 3]130 & 

va’k iw¡th & 1]00]000 & 50]000 

lkekU; lap; & 50]000 & 5]000 

ykHk gkfu fooj.k 

i= ¼vfrjsd½ & 6]250 & 3]500 

8% _.k i= & & & 10]000 

 1]56]250 1]56]250 68]500 68]500 

;g eku yhft, fd ubZ dEiuh }kjk _.ki=ksa dk ‘kks/ku dj fn;k 

x;k gS vkSj blus O;;ksa dks lap; ds fo#) pktZ fd;k gSA lEifŸk;ksa 

dks mlh ewY; ij fn[kkrs gq, ftl ij fd bUgsa ewy dEifu;ksa dh 
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iqLrdksa esa fn[kk;k x;k Fkk] ubZ dEiuh dh iqLrdksa esa izkjfEHkd tuZy 

¼iath½ izfof”V;k¡ dhft,A 

Vaibhav Limited and Gaurav Limited agree to combine and 

form a new company to be called Vaibhav-Gaurav Limited 

with an authorised capital of ` 2,50,000 in ` 100 per share. 

The new company takes over the assets and libabiliteis of 

both the companies. The consideration being 1,500 fully paid 

shares to Vaibhav Limited and 500 fully paid shares and  

` 5,000 in cash to Gaurav Limited. Formation expenses 

` 3,000 and liquidation expenses ` 1,000 are paid by the new 

company. The balance at the date of Amalgamation were : 

Particulars 

Vaibhav Ltd. Gaurav Ltd. 

Debit 

Balances 

Credit 

Balances 

Debit 

Balances 

Credit 

Balances 

(`) (`) (`) (`) 

Sundry Assets 1,28,645 – 65,370 – 

Cash 27,605 – 3,130 – 

Share capital – 1,00,000 – 50,000 

General Reserve – 50,000 – 5,000 

Statement of 

profit and loss 

(Surplus) – 6,250 – 3,500 

8% Debentures – – – 10,000 

 1,56,250 1]56,250 68,500 68,500 
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Assume that the debentures were paid off by the new 

company and that it charged the expenses against reserve. 

Give opening journal entries in the books of the new 

company bringing the assets at the value at which they stood 

in the books of the original companies. 

vFkok 

(Or) 

vkUrfjd iqufuZekZ.k ,oa cká iqufuZekZ.k esa vUrj crkb,A vkUrfjd 

iqufuZekZ.k dc okaNuh; gS \ 

Distinguish between internal reconstruction and  

external reconstruction. When is internal reconstruction 

desirable ? 

4- ‘A’ fyfeVsM us ‘B’ fyfeVsM ds va’kksa dk Ø; fuEukuqlkj fd;k gS % 

frfFk va’kksa dh la[;k 
ewY; 

¼`½ 

1 viSzy] 2019 4]000 70]000 

1 viSzy] 2020 1]000 20]000 

1 viSzy] 2021 3]000 70]000 

‘B’ fyfeVsM dh fuxZfer iw¡th ` 1]00]000 Fkh tks ` 10 okys 10]000 

va’kksa esa foHkkftr FkhA fyfeVsM ds ykHk&gkfu fooj.k&i= esa ` 60]000 

dh ØsfMV ckdh 1 viSzy] 2019 dks FkhA blds ckn ‘B’ fyfeVsM ds 

okf”kZd ykHk ` 20]000 ds gks jgs gSaA fu;a=.k dh ykxr vFkok [;kfr 

;g ekudj fudkfy, fd iqLrdsa izfr o”kZ 31 ekpZ dks can dh tkrh 

gSA 
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‘A’ Limited purchased shares in ‘B’ Limited in the following 

order : 

Date No. of shares 
Price 

(`) 

1 April, 2019 4,000 70,000 

1 April, 2020 1,000 20,000 

1 April, 2021 3,000 70,000 

The issued capital of ‘B’ Limited was `  1,00,000 divided 

into 10,000 shares of ` 10 each. ‘B’ Limited had a credit 

balance of ` 60,000 in its statement of profit and loss at 1st 

April, 2019. After this ‘B’ Limited is making annual profits 

of ` 20,000 each year. Prepare a statement showing cost of 

control or goodwill assuming that books are closed each year 

on 31st March. 

vFkok 

(Or) 

fuEufyf[kr nkf;Roksa ds lkFk foosd fyfeVsM dk lekiu gqvk % 

(i) jf{kr ysunkj ` 20]000 ¼izfrHkwfr;ksa ls ` 25]000 izkIr gq,½(  

(ii) iwokZf/kdkjh ysunkj ` 6]000( (iii) vjf{kr ysunkj ` 30]500A 

lekiu O;; ` 252 gq,A 

fuLrkjd ¼lekid½ olwy gqbZ /kujkf’k dk 3% rFkk vjf{kr ysunkjksa 

dks forfjr dh xbZ jkf’k dk 1-5% ikfjJfed izkIr djus dk vf/kdkjh 

gSA fofHkUu lEifŸk;ksa ls ` 26]000 olwy gq, ftuesa ,slh lEifŸk;k¡ 

lfEefyr ugha gSa tks iw.kZ jf{kr ysunkjksa ds ikl gSaA 
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fuLrkjd dk vfUre fooj.k [kkrk cukb,A fuLrkjd viuk ikfjJfed 

csph xbZ dqy lEifŸk;ksa ls izkIr /ku ij ysus dk vf/kdkjh gS ftuesa os 

izfrHkwfr;k¡ Hkh lfEefyr gSa tks iw.kZ jf{kr ysunkjksa ds ikl gSaA 

Vivek Limited went into liquidation with the following 

liabilities : 

(i) Secured creditors ` 20,000 (securities realised ` 25,000); 

(ii) Preferential creditors ` 6,000; (iii) Unsecured creditors  

` 30,500. Liquidation expenses were ` 252. Liquidator’s 

remuneration 3% on the amount realised and 1.5% on the 

amount distributed to unsecured creditors. ` 26,000 were 

realised from various assets and this amount does not include 

those securities which are with the secured creditors. 

Prepare Liquidator’s Final Statement of Account 

Liquidator is entitled for remuneration on the amount 

realised on all the assets including those which are with the 

secured creditors. 
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